
GENERAL FEED BACK :

Good attempt!

Please note :

1)To submit the paper neatly.

2)to include the data given in the question 
, before you work on it, which will show your comprehension on the question.

3)To organize the answer space well!

4) To double check the calculations.

52

hp
Stamp

hp
Stamp

hp
Stamp

hp
Stamp



	P (WW from bag A and WW from bag B) = 6/9  ×  5/8  ×  6/10  ×  5/9=  5/36
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  x+  √y/9= 1 

  √y/9=   1 - x

 √y= 9 (1 - x)


  y =81(1-x)^2

Answer: y =  81(1-x)^2


Not allowed to do cancellation in subtraction!

hp
Stamp



You may write in sentence like the following :

Sequence is 2, 7, 12, 17, 22, ………..
a = 2
d = 7 – 2 = 5
so 5n is in the formula.
First term = 2, n = 1
                = 5 × 1 – 3  
                5n – 3 is the nth term.
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Total number of games he played = 500 + x
Number of games he won = 370 + x
Hence (370 + x)/(500 + x )=  75/100
37000 + 100x = 37500 + 75x
25 x = 500
x = (500 ÷ 25) = 20

Answer: 20


Pls note:
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(a)	Reflection in the line y = x
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9


1 3 5 5 6 9

0  2 2 3 3 4 6 8 9


2 4 5 




0

2:9 means 29

hp
Stamp



hp
Stamp

hp
Stamp



hp
Stamp

hp
Stamp

hp
Stamp



4.8  ~5

1.98276 ~ 2
16.83 ~ 20

p= (5  × 2)/20 = 5/10 = 0.5
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Please organise the calculations in one side and and statements and answer on the other side.
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Equation of line L1 : y = 4x – 5 
Slope of line L1 = 4
Line  L1 and  L2  are parallel. Hence Slope of line L2 = 4
Equation of line with gradient m and which passes through (h, k) is given by
                                                  y – k = m (x – h)
Equation of line L2 is given by y – 3 = 4 (x – 8)
                                           y – 3 = 4x – 32
                                                  y = 4x – 29 

Answer: y = 4x – 29 
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(√108-2√3)/(3√3-3)  = (√(36 3)-2√3)/(3√3-3)      
                    
               = (4√3)/(3√3-3)          
Rationalising the denominator,
(√108  - 2√3)/(3√3  - 3) = (4√3  (3√(3 )+ 3))/(3√(3 )- 3)(3√3+ 3)           
                 = (36 + 12√3)/((3√3)^2- 3^2 )
                                        = 2+2/3 √3
Answer:     


calculation mistakes
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Please note:

a : b = 2 : 7  and a : c = 3 : 4
Interchanging the first ratio
b : a = 7 : 2  and a : c = 3 : 4
LCM of 2 and 3 is 6
b : a = 7 × 3 : 2 × 3  and a : c = 3 × 2 : 4 × 2
b : a = 21 : 6  and a : c = 6 : 8
b : a : c = 21 : 6 : 8
a: b : c = 6: 21 : 8

Answer:  a: b : c = 6: 21 : 8


hp
Stamp



hp
Stamp



	y = 2x + 4
2y + 4 = x
      2y = x – 4 
y = (x - 4)/2
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